Birzeit University
Faculty of Engineering and Technology
Department of Electrical and Computer Engineering
Engineering Probability and Statistics ENEE 2307
Quiz # 1

Instructors: Dr. Wael Hashlamoun, Date: October 12, 2017

Problem:
A system is made up of two components A and B connected in parallel. The system

works if at least one component works. The probability that A works is P(4) = 1 /4
and the probability that B works is P(B) = 1 /3. Given that P(ANB) = 1/8

a. Are A and B independent?

b. Find the probability that the system works,

¢. Find the probability that either A or B but not both work.
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Birzeit University
Faculty of Engineering and Technology
Department of Electrical and Computer Engineering
Engineering Probability and Statistics ENEE 2307
Quiz#1

Instructors: Dr. Wael Hashlamoun, Date: October 12, 2017

The discrete probability function for a sample space S is:
Px)=kx(x+1) ; 1<x=<4.
Let A={1,2}, B = {2} be two events defined over S.
1. Find k so that P(x) is a valid discrete probability function.
2. Are A and B independent? Explain
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Birzeit University
Faculty of Engincering and Technology
Department of Electrical and Computer Engineering
Engineering Probability and Statistics ENEE 2307
Quiz # 2

Instructors: Dr. Wael Hashlamoun, ' Date: November 2, 201 7.

Mugs produced by a certain pottery factory‘have an 8 % defective rate. A quality
assurance inspector randomly selects five mugs and inspects them.

a. Find the probability that the inspector finds at least one defective mug.
b. What is the probability that all five mugs are detective?
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Birzeit University
Faculty of Engineering and Technology
Department of Electrical and Computer Engineering
Engineering Probability and Statistics ENEE 2307
Quiz # 2

Instructors: Dr. Wael Hashlamoun, ' Date: November 2, 2017

Let X be a random variable with the following probability density function:

kx, 0<x<?2
fxx) = { 0, otherwise

a. Find k so that fy(x) is a valid probability density function
b. Find the variance of X ‘
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Birzeit University
Faculty of Engineering and Technology
Department of Electrical and Computer Engineering
Engineering Probability and Statistics ENEE 2307
Quiz #3

[nstructors: Dr. Wael Hashlamoun, Date: December 7, 2017

The two random variables X and Y are related by the following joint probability
density function (pdf)
kx, 0= x=1, g vyves 2
Jry () = { 0, ot@erwise g Y
2
a) Find k so that fy y (x, ¥) is a valid joint pdf.
b) Compute the marginal pdfs fy (x) and £, ( ¥)
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Birzeit University
Faculty of Engineering and Technology
Department of Electrical and Computer Engineering
Engineering Probability and Statistics ENER 2307
Quiz #3

Instructors: Dr. Wael Hashlamoun, Date: November 7, 2017

Let X be a random variable with the following probability density function:
1
—X, 0= xs=
fe@) = {7* =2
0, otPlerwise
If Y is another random variable, related to X by Y = X2,
a. Find the probability density function of Y and the interval over which it is

define. v 2
b. Find the mean value (i.e., the expected value) of Y. Y o= >
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Birzeit University
Faculty of Engineering and Technology
Department of Electrical and Computer Engineering
Engineering Probability and Statistics ENEE 2307
Quiz # 4

Instructors: Dr. Wael Hashlamoun, Date: January 9, 2018

The speed of a vehicle, measured at different times, is given in the table

Time(s) x 1 1.3 2.3 3 3.5 4

Speed (m/s)y | 5.7 6.3 7.4 8.4 11.9 13.7

We suspect that the data follow a linear function of the form y = ax + 8.
a. Setup the necessary equations needed to determine @ and 3.
b. Solve the equations in Part a for « and £3.
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Birzeit University
Faculty of Engineering and Technology
Department of Electrical and Computer Engineering
Engineering Probability and Statistics ENEE 2307
Quiz # 2

Instructors: Dr. Wael Hashlamoun, Date: October 25, 2018

The continuous probability function for a sample space S 1s:
f(x)ﬂ%x;r 1<x <4,

a. Find the mean (expected) value of X
b. Find the variance of X
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Birzeit University
Faculty of Engineering and Technology
Department of Flectrical and Computer Engineering
Engineering Probability and Statistics ENEE 2307
Quiz # 4

Instractors: Dr. Wael Hashlamoun Date: August 9, 2018

Let X and Y be two independent random variables with the marginal pdf's

fx(x) = { 0, otherwise fry) = 0, otherwise

Define 7Z=X +2Y
a) Find the joint pdf fy y(x,y) of the two variables and the region over which it

is defined
b) Find the mean and variance of 7.
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